Карточки по математике 
5 класс
	    А                                 Тема «Решение уравнений»

	Образец решения
28 + х =43	920 -  х = 597
Х = 43 – 28	х = 920 - 587
Х =15		х = 333
Проверка:	                   Проверка:
28 + 15 = 43                   920 – 333 = 597
43 = 43 	597 = 597
Ответ: х = 15	Ответ: х = 333

	Решить уравнения:
4994+ х = 6001
5304 – у = 4999
У : 19 = 19076
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	     А                                Тема «Решение уравнений»

	
Образец решения
11 х =187	324:  х = 36
Х = 187 : 11	х = 324 : 36
Х =17		х = 9
Проверка:	                   Проверка:
11 *17=187                   324 : 9 = 36
187=187 	36 = 36
Ответ: х = 17	Ответ: х = 333


	
Решить уравнения:
2592 : х = 24
Х : 19 = 19076
Х – 2197 = 3934
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Решить уравнения: 
 (х - 23)*14 = 56	103 – (х + 47) = 54
2811 + х = 4003 – 97	205 : (х + 27) = 41
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